30.00 106.00
- 4.173)
[1v181]ﬁ 14.173] % 30.00
[1.181]
———— D
—— LID FASTENERS
[— M3 x 10 mm Screws for FRABS/Polycarb
——1 #4 x 1/2" Self Tapping for GPABS g
——
8 4 E g 4 —] Slots for screws or mounting strap
79.10 2 B 9360 | ——
[3.114] %"% [3.685] | &——
: s : ——}
——
—
| e—
——
P = o
@ q IR @ = Mounting Holes for #6 - #8 screws-
- M3.5 - M4.5
M3><0.5-6Hx5,75—/ ¢ )
SIDE VIEW OF BOX TOP VIEW OF BOX A SECTION A-A
120.50 Brass Inserts in FRABS and Polycarb-
[4.744] No inserts in GPABS
2.03 3.00
[.080] [.118]
T T
—=l =— AVERAGE WALL THICKNESS c
Lol . [.079]
SECTION B-B
EXPLODED VIEW OF ASSEMBLY
c ~——NARROWEST INSIDE DIMENSION o NARROWEST INSIDE DIMENSION =
85.79
— [4.454] — [3.378]
= — — 7 7
INNER BOX HEIGHT
[1.177]
[ -
- \F 116.26 - 8736 44
c [4.577] b [3.439] B
END VIEW OF ENCLOSURE SECTION c-C SIDE VIEW OF ASSEMBLY SECTION D-D
$5.33 ?4.67
.210 .184
1210] [ 1184 6.40 |
[ 146.20 - [:252]
F | [5.756] W o
é@ ((’& —
@2.25 —
035 1.089] Note:
[,ées] Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. )
J Solid models of this enclosure available in STEP or IGES Format.
70.00 U U 71.15 79.85 93.80 Contact Factory ~ mjm@hammondmfg.com
[2.756] T [2.801](3.144] [3.693]
PART NUMBERS
3.15 | L
[.124]
Colour Part Number
FRABS  UL94] Black 1591GFLBK
Grey 1591GFLGY
) MANU :
91.65 ™ Description Part Number
[3.608] 5.80 —= See Accessories
106.00 [.228] Used with ABS PC Board Card Adapters Section
[4.173] Enclosures |Replacement Screws, Flat Head Phillips Nickel 1591MS100
Plated Pack of 100, 1591MS100BK (Black’
134.40
[5.291]
M3 - 0.5 x 10mm Screws 30-40 cN*m
#4 x 0.5 Screws 30-40 cN*m
4 3 1




	Text9: 


